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QUESTION 1

How is the aggregator attribute handled with 32-bit AS numbers? 

A. With the same method and attribute as 16-bit AS numbers. 

B. With the same method as 16-bit AS numbers, but using the AS4_Aggregator attribute. 

C. Aggregation is not yet supported with 32-bit AS numbers. 

D. By using a dummy value of 23456 in the 16-bit AS aggregator field. This value lets the router know it needs to read
the 32-bit AS number that is contained in the nextTLV. 

Correct Answer: B 

 

QUESTION 2

A default route for a client is also known as the: 

A. Default path 

B. Default gateway 

C. Gateway path 

D. Proxy ARP 

Correct Answer: B 

 

QUESTION 3

Which LSA type is used for OSPF-TE? 

A. Type 8 LSA -- Link Local LSA 

B. Type 9 LSA -- Link local Opaque LSA 

C. Type 10 LSA -- Area local Opaque LSA 

D. Type 11 LSA --AS Opaque LSA 

Correct Answer: C 

 

QUESTION 4

Click the exhibit button. 
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In the topology shown, router R1 is an ASBR configured to export external routes to OSPF. Which of the following
statements regarding the OSPF LSAs in the network is true? 

A. Router R1 generates a type 5 LSA that is flooded through all OSPF areas. 

B. Router R1 generates a type 7 LSA that is flooded through all OSPF areas. 

C. Router R1 generates a type 5 LSA that is flooded through area 1. Router R2 generates a type 7 LSA that is flooded
through areas 0 and 2. 

D. Router R1 generates a type 7 LSA that is flooded through area 1. Router R3 generates a type 5 LSA that is flooded
through areas 0 and 2. 

Correct Answer: D 

 

QUESTION 5

Which of the following is a characteristic of LDP Hello messages? 

A. They are multicast to the All Hosts address. 

B. They are broadcast to the subnet broadcast address. 
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C. They are multicast to the All Routers address. 

D. They are broadcast or multicast, depending on the physical media. 

Correct Answer: C 
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